1ERES TRIGONOMETRIE

1/ Calculs.

5 . bxm 5
1°) Calculer : coOs—, SIn— et tan—
12 12
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2°) Sachant que : tan 6 =Z , calculer: cos 9 et sin©
3°) Simplifier :

T . T
A=cos?Z= —sin?=

8

T 27 3r A7 S5r
B= COSE + COS — + COS— + COS— + COS

T . 3T
C =cos——-sin—

Il/ Equations.

1°) Résoudre sur ]-nt; mt] : 2sin 2x—1=0.

2°) Résoudre sur ]-m; @] : cos 2x = sin 3x.

3°) Résoudre sur ]-n ; m] : tan x = sin 2x.

lll/ Inéquations.

J2
1°) Résoudre sur ]-wt; m] : 7 <cosx<

V3
2
2°) Résoudre sur ]-n; @] :

cos 2x+3sinx—2>0.
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